BLADE 250 CFX HELICOPTER CNC AL/Plastic Triple Blade Conversion set INSTRUCTION

ICROHELI CO., LTD.

COPYRIGHT © 2017 MICROHELI®_

CNC AL/PLASTIC TRIPLE BLADE CONVERSION SET
MH-25CFX001TH

1

“Q Apply Loctite to all screws
LoctiTe

4mm Stainless Steel Ball Linkage 3x6x3mm Rubber Damper M2x5mm Cap Screw 10x15x4mm Radial Bearing
[j]‘ ..... X7 I:l ..... x3 @ [h ..... x3
An-ti Rotation Pin 3x4x5.25mm Brass Spacer Lock Ntm2 ~~ \A 4 | | o x1
© —m O I @ B - 3
3x6x2.5mm Radial Bearing 2x4x0.5mm Brass Washer M2x12mm Cap Screw Lock Nut M2
E ..... X6 © N 3 [ — .. © g] ---- x3
2x5x2.3mm Flange Bearing 3x5.5x0.55mm Brass Damper Spacer M2x14mm Cap Screw 1.5x8mm Stainless Steel Pin
@ ..... %2 l ..... X3 [ — 1 o — .. X1
=
M1.4x4mm Phillips Head Screw 2.1x4.8x0.6mm Brass Spacer 1.5x2.5x3.2mm Brass Bushing 1.6x6mm Set Screw
® (. X3 @ g ..... 1 o) O .. x‘l o -— <
4.8x6.0x3.75mm Aluminum Spacer
( N\
1,5%2.5x3.2mm |
2x5x2.3F Brass bushing .
Head Button Radial bearin 15253288 i !
MH-230S001HB g Washout Arm | Delrin Washout
MF6822Z MH-25FX001W elrin VWashou
| Arm Linkage
| | MH-25FX001A
M1.4x4mm | 1.6mm stainless
i | Phillips Head Screw 2;::;'58:2;1";;“ | rjﬁezlslé%%%i
| | M1440PSS 21480635 |
| | | 2x5x2.3F | 4mm Plastic
| Radial bearing Linkage End
Main Rotor MF6822Z | MH-25FX001E
3x6x3mm Y Hub Upper - N @2 ——
Damper ﬁ MH-230S001TU
BLH4505 1.5x8mm Stainless/%\
| | Y Steel Pin
| Main Rotor / 158000PSS
- | Hub Insert s/
| | MH-230S001TI /
> 7/
) g
7/
3x6x3mm v 7 _ )
Feathering Shaft Damper Y
MH-230S004T BLH4505 )
3x6x3mm 7 4mm Stainless Steel
Damper > / Ball Linkage
BLH4505 Main Rotor Hub s 4 MH-300X021 4mm Stainless Steel
MH-25FX001T Ball Linkage
4 MH-300X021
/
/
/
/
M1.6x5mm / X
Phillips Head Screw / - m 4mm Stainless Steel
M1650PSS / I Ball Linkage
/0/ MH-300X021
/
4mm Stainless Steel
Ve ~N Ball Linkage
MH-300X021 10x15x4mm
Radial Bearing
Center Ball
MH-230S012CB MR670022
4mm Stainless Steel
,ﬁﬁ"%g;@gﬁ ' An-ti Rotation Pin
/M— MH-230S012P
Center Ball Housing 4mm Stainless Steel
MH-230S012BH Ball Linkage
MH-300X021
Lower Cup
MH-230S012LC —
4mm Stainless Steel
Upper Cup 3 Blade Ball Linkage
MH-25FX012TUC MH-300X021 \g/
\ J

Apply Loctite

CAUTION: Please check your model helicopter carefully before attemp to fly!

REV. 25CFX001TH-110817-01

01




	Sheets and Views
	Model


